Warm -up
1. Write in Exponential form:
a) Logsx=7 “
b) Log100 = X o =h
\ O =\06
2. Write in Logarithmic form;
a) 5 =12 logys!
b) 3° = x+5 |®3<¥“© 9

3. Evaluate. 4 6R 6 —/@6“
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Graph the following:

Logs(x +2)-4 — VS Ooua &
~—— Hs e+ 2

PO\(‘CM'. )03‘57( .




More Practice
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The Natural Logarithmic Function
\\

Lo\chx IS written as \ N K

where x > 0



f(x) = In x
1) f(2) — Oqu
2) f(0.3) = —|, 20

3) f(-.07)< 20N rea\ eNswed






Example 1: Simplif
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Example 4: Simplify |n1 O

o3y, | ﬁ_QS |03 \ = 3

Example 5: Slmpllfy Ine | O 5Q
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lo S =4R e ~& f%
Example 6: Simplify Example 7: Simplify /‘:_kz
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More Examples

Log2(16) =@ log (1/10)=@
i ' 510910(,/'6)‘::Q

2= R oNGA
Ine?= Log8 = ()
@) ee. =R : e 3 = o
Q?l:e?’ @ ; &\a—_ =7 &R_<a\\
eln(12)\? N (‘I/e§)= A5

99e ™ - é 2)=R
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Write in Log Form: e = 148.41

oo, s =5 (In lasa=3

Mlie_m_Exp_Qnentjal Form: In4 =1.39
.3 leg, = (.39
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